
4488

2244

3300 □

3366
□

2266

3399 □

9900

□

4488

□

□
11552211

2255

5500

2288

2255

4455

□

□

3366
⑴ ⑵

⑶ ⑷

□にあてはまる数を求めなさい。１

相似形⑷  --  復習

1



□

3399

2200

□ 2244

6600

□

1188

1188

99

1166

□

⑸ ⑹

⑺ ⑻

□

3300

4488

1144

2288

2266

□

4477

1188

2244

相似形⑷  --  復習

2



9900

112200
115500□

□
□

□
□

５

1155

2255

1155

1155
2200

2255

□ □
□

⑼ ⑽

⑾ ⑿

□

2244

3355

1166

相似形⑷  --  復習

3



□

1100
1188

3300

1122

1166

7700
4422

5566

□

11444422

□

⒀　直角三角形と正方形 ⒁　長方形の折り返し

⒂　平行四辺形と三角形 ⒃　正方形

2200□

相似形⑷  --  復習

4



□

8800

3300 □

2288

2211

2244 □

⒄ ⒅

⒆ ⒇

2244

2200

□

5566

相似形⑷  --  復習

□ □

3300

1155

5



解答

１

⑸ ⑹

⑺ ⑻

⑴ ⑵

⑶ ⑷

4488

2244

3300

3366

2266

3399

9900

4488

11552211

2255

5500

2288

2255

4455

3366

3399

2200

2244

6600

1188

1188

99

1166

3300

4488

1144

2288

2266

4477

1188

2244

9900

112200
115500

５

1155

2255

1155

1155
2200

2255

2244

3355

1166

1100
1188

3300

1122

1166

7700
4422

5566

11444422

2200

4400

5566
3366

3322

3300

3355

2200

3355

3366

2266

3300 3322

4400

3355

9966

7722
5544

2211

99
1122

99 1166
1122

2255

4400
2244

3322

⒀ ⒁

⒂ ⒃

⑼ ⑽

⑾ ⑿

相似形⑷  --  復習

6



⒄ ⒅

⒆ ⒇

8800

3300

2288

2211

2244

2244

2200

5566

4488

3355

1122

1188

相似形⑷  --  復習

3300

1155
1100 1100

7




